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— 1| R3 | 15,273 | 14,982 |22,398 |45,014 |28,466 |53,018 |14,569 |32,370 |6,663 |[109,928 |342, 681

B e (4.5) [(4.4) [(6.5) [(13.1) |(8.3) [(15.5) |(4.3) [(9.4) |(1.9) [(32.1) | (100.0)

45| R3 97 518 |4,885 |1, 188 338 | 1,539 473 | 1,052 57 12,600 |12, 747

[(0.8) [(4.1) [(38.2) [(9.3) [(2.7) |(12.1) |(3.7) [(8.3) [(0.4) |(20.4) | (100.0)

+
H
= | k8 19 11 | 274 |1,588 27 30 71 30 6 23 | 2,079
* g | e[ (0.9) (0.5) [(13.2)[(76.5) |(1.3) |(1.4) [(3.4) [(1.4) [(0.3) |(1.1) |(100.0)
ﬁya R3| 405 | 374 | 795 1,201 |5,239 [1,635 | 939 |56,935 | 189 |9,075 |76, 787
H

A

H#[(0.5) [(0.5) |(1.0) |(1.6) [(6.8) |(2.1) |(1.2) [(74.3){(0.2) |(11.8) |(100.0)

R3 | 15,794 |15,885 |28,352 |48,991 |34,070 |56,222 |16,052 |90,387 |6,915 |121,626 |434,294

B %] (3.6) | (3.7) |(6.5) |(11.3) | (7.8) |(12.9) | (3.7) |(20.8) | (1.6) |(28.1) |(100.0)

R2 | 13,645 | 14,293 |26,891 |42,740 |30,836 |49,819 |13,797 |77,582 |b, 377 |103,155 |378,135

S | R3 0 0 0 0 0 0 0 | 23,600 0 0 23,600
5 R 0 0 0 0 0 0 0 |23,353 0 0 |23,353
N R3 | 15,794 | 15,885 |28,352 [48,991 |34,070 |56,222 |16,052 |113,987 |6, 915 |121,626 |457,894
(=)

= e (3.4) [ (3.5) | (6.2) [(10.7) | (7.4) |12.3) | (3.5) |(24.9) | (1.5) |(26.6) | (100.0)

R2 | 13,645 | 14,293 |26,891 |42, 740 |30,836 |49,819 |13,797 |100,935 |5, 377 |103,155 |401, 488
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K ~10[~20|~30|~40|~50|~60|~70[(~80|81~| A%t
| R3 |6,710 |10,987 |21,932 |36,512 |61,338 |58, 771 |74,686 |62,971 |8, 774 |342, 681
| e [ (2.0) | (3.2) | 6.4) |0.7) [(17.9) | (17.2) | @17 | (18.3) | (2.6) |(100.0)
4% | R3 179 196 | 634 | 858 (1,880 |1,919 (3,170 |3,249 | 662 |12, 747

T o= .4 | Q.5 [ B.0) | (6.7) |47 | (15.1) | (24.9) | (25.5) | (5.2) |(100.0)
% zEt; R3 16 46 289 101 241 233 562 540 51 | 2,079
mel g | PR 1(0.8) [ (2.2) (3.9 | (4.9) |(1.6) [(11.2) | (26.9) |(26.0) | (2.5) |(100.0)

BlzE| 1w [ R [22,497 | 1,818 |3, 187 (28,040 | 14,487 |2, 173 |2,804 | 1,724 57 |76, 787

H"jf} B[ e (0.3 | (2.4 | (4.2) | @64 [(8.9 | (2.8) | 3.7) | (2.2) |(0.1) |100.0)

¥ . R3  |29,402 |13,047 |26,042 | 65,511 |77,946 |63,096 |81,222 |68,484 |9, 544 |434,294
Tl R [ 6.8) [(3.0) |(6.0) (5. 1) |(17.9) | (14.5) | (18.7) | (15.8) | (2.2) | (100.0)

R3 491 274 900 | 1,978 (3,159 |3,664 |7,955 |4, 585 594 |23, 600

A
\4
ﬁ R (2.1 [(1.2) | (38.8) | (8.4) | (13.4) | (15.5) | (33.7) | (19.4) | (2.5) |(100.0)
N R3 29,893 | 13,321 |26,942 |67,489 |81,105 |66,760 |89,177 | 73,069 |10, 138 |457,894

et | (6.5) [(2.9) | (5.9) |(14.7) |(17.7) | (14.6) | (19.5) | (16.0) | (2.2) |(100.0)

" R2 23,875 | 11,931 |22,979 |62,653 |77,006 |56,971 |80,586 |57,738 | 7,749 |401,488
= R3 |6,717 |4,811 |10,977 |20,578 [28,671 |26,105 |32,063 |24,073 |3, 156 |157,151
ﬁj\ R [ (4.3) [ (38.1) | (7.0) | (13.1) | (18.2) | (16.6) | (20.4) | (15.3) | (2.0) |(100.0)
i R2 |5,428 |4, 136 |8,902 |18,344 |26,262 |21,395 |28,715 |18,858 |2, 459 |134,499
= R3 254 287 602 634 607 403 317 221 32 | &, B
%% R | (7.6) [ (8.5) | (17.9) | (18.9) | (18.1) | (12.0) | (9.4) | (6.6) | (1.0) |(100.0)
Biig R2 227 268 523 576 591 355 343 178 22 | 3,083




